Intermediate Algebra — Chapter 4
Lesson 1
Name: Date

Tell whether the ordered pair is a solution of the system of linear equations.
2. (8,2 x-y=6

1. (2,6) x+y=8
3x-y=0 2x - 10y = 4
Pt b= (2= 0 Azl QAD-0(3) Y
=2V b6 =0 b=V b=-30=Y
O=0V c47Y)
%S No S
3.(-4, -2); y=2x+6 4. (-2, 1); 6x + 5By = -7
= -3x- 14 . 2x—4y=—8 v p ,
- 2= ot @ ~3lu)-Y b))z LA U
e I R “\WAS ) Sd=d e
== T o ]‘“ - 7 - A
co AV g7 dV
L) \“.r,?‘
\/P(f) Le )

Solve the system of linear equations by graphing.
5. y=-x+7 -
y =X+ 1 -

6.y=-x+4
y=2x-8




Intermediate Algebra — Chapter 4
Lesson 1 B\f --9x -3

3 7!—. —3)(..\ 8. 4x -4y = 20
y=-5

7.9% + 3y = -
2x -y = -4 -y =-ax-Y
Y= ax+Y

~y = -y 190
- x-5

it

10. 3y + 4x = 3 4
x+3y=-6 3:-%A-b

AN

3




Intermediate Algebra — Chapter 4
Lesson 2

Name:

Date

Tell which equation you would choose to solve for one of the variables. Explain.

1.x+4y =10
x-2y =0

Either $o ¢ X

3.5x + 3y = 11
5x - y 5

@“%«/

2. 3x-y=0
2x+y-—10

ond %vy

4. 3x-2y =19
xX+y=28

oM G )(Q{\/

Solve the system of linear equations by substitution. Check your solution.

5. x =17 - 4y
y=x-2

X: N-4(x-3) 173
LS s |

+\¥f Htss /(5,3

2= 25

X=S

7. x =16 - 4y
3x +4y = 8

3(\L- Hy) 4y =
‘-}% \@ +Ll =3

43-%=3

I /‘?J(qi\

X=lb-d(5)
X=\6-20

AV

6. 6x-9 =y
y = -3x )
(ox~9 = - 3%
“lo¥ 2 S— ]
- = SIx !(\ f})-!
=x o L
V= -3
8. -5x + 3y = 23 'E @(%}js_ -3

10x - 8

,5;*3(&)% =25 Y= %“L_ 4o

- Sy 4+ 30%- SEE 3 HQ
QSXS xé éﬂ' Y= 5

NN
)(: 4
25

|



Intermediate Algebra — Chapter 4

Lesson 2
Solve the system of linear equations by using substitution. Check your solution.

9. Bx + 2y = 9 10, 11x-7y = -14
+y = -3 - = -2y = -4 _ -

g ‘Yy -y X ‘\§ ‘t% x-ﬁyy 1dy X :‘}(’g’ , !
X=-y-3 X5 X=@{*4

S(y-3+9y=1 {9y -4)-Ty=-1 P
~Sy-1S 19y=A (S' k2 Iy -4 —7y ==y " 07
LU

SRS T : |
3\‘“5 A4S \:)Y +‘—%Ur —b‘i# ]
- 3\! T QL*{ J\f "‘30

¥e-3 V=9

11. A farmer plants corn and wheat on a 180-acre farm. The farmer wants to plant three times
as many acres of corn as wheat. Write a system of linear equations that represents this situation.

How many acres of each crop should the farmer plant?
Corn = ¥ Wheod = X \
X4y =130 Y=3(45)
CoYEIXT Y=135
X4 3x =130 corn
Hy = 130

X =45
Loheot

12. A company that offers tubing trips down a river rents tubes for a person to use and “cooler”
tubes to carry food and water. A group spends $270 to rent a total of 15 tubes. Write a system
of linear equations that represents this situation. How _many of each type of tube does the group

rent?
&



Intermediate Algebra — Chapter 4
Lesson 3
Name: Date

Solve the system of linear equations by elimination.

1.x+ 2y =13 2.9 +y=2
-x+y=5 -4x -y = =17
3y:\% 5)( ’:-Ig
V=0 o
-X4b=5S Q(,gl]:\f ;g
e 523
R y=-aS
2z '(:%‘—3)’8)//
(Oh) [
3.-x+y=4 4. 4x - 9y = -21
—X+3y=4 -4x -3y = 9
Yy =23 19y = =13
y-3 {-
SVeptaty Sx-9L): 3]
o=l g ol
Xzod Yye-19
(-33) Y=



Intermediate Algebra — Chapter 4
Lesson 3

Solve the system of liner equations by elimination.

5. 8x-5y=11_ > ¥X-5y=1]
4x -3y =5 __.

Y=
(9.1)

Yy-3(D=S

dy-3=95
43 43

qx=73
X=3

. -2x - By = 9——‘—A ~loX - \SY’Q_’

3x + 11y = 4ﬁ—5 Cpx+5®f“

Ty=35

-x—S(N =9 =5

—a%-35:=9
43S 43S

~ 3% =44
xf-gs

(235 “J

'K)( —H'o\; -1O

6. 10x - 9y = 46 ——>Ox-Fy =4}
-2x + 3y = 10 o —GYX +q)’ :_Sf—_)_
Y =T
X =19
~acwd*3v‘“>
~224+3
ELAR
, Y =l ;'3'“3
Ul

8. 12x - 7y = -2 X DOx- Iy =-Y
8x + 11y = 3072 ~x- Iy = C‘D

-4y =-
y:&
Zx +11(39)=30
=3
Bx 29738
Zx=3
X= |

e

—
|



Intermediate Algebra — Chapter 4

Lesson 3
Solve the system of linear equations using any method. Explain why you chose the method.
9. -6y + 2 = -4x @[3x+y:-31-
y-2=x 3(2x-3y=1)
+2 +9 3 B
Y:XTQ qxfgy:lﬁ,} Q}X_%(?y::g
~{x19)1 8= -Yx oY ,C;\/: 23— (x-9y~3
~(9X~|9+8:‘L1)( Mwa.;éxf; H
'bX—\D:‘qx )(:._-;3
+lx T LK 3(4) 4y -
-[b:ax 3 I :13
“S=x by,
'- - =
N-3=-5 }(—5,*3) - 4 3
+3 +2 ‘! \/ 3
Y=-3 T 7o .2 /
( 31 3/

11. Solve for x, y, and z in the system of equations. Explain your steps.

x+Ty+32:29  A+N43779 ~—IX+TY+452 =99
3z + x-2y = -7 X -ég)y 4377 ] "“*:L*“”"’}\X *Q_r" J%: 7
By=10-2x gy 45y =10 @ Q\{:Sla

e g TY

\i \] ;-L.{ I
|

l_. _— - T

e s{u)=10 |
@&)X"} (, ‘) @ .'S—{_ICL‘\) 43%:96’

ANV ERES)
-390 ~DO -5 423943299
D= - WO 2%+ 32 =99

P\ \:“"?J °Q}”%) "@E%
326

720

A e



Intermediate Algebra — Chapter 4

Lesson 4
Name: Date
Solve the system of linear equations. i st 3 el ;;g
1.y=-2x-4 2.y=-6x-87- Y 700
y=2x-4 y=-6x+8~ Vv \/"’ oy A
25:‘-’" "ﬁé‘ 0F
.ﬂraw‘ L Lvl o ~
1 My 0ol

VAR

\‘ Y t ' AW
Dol
“o
/ ""\
£ =&
(0~
3. x+2y=7 4. 3x-y=6
x-2y =7 -3x +y=-6
Ot O
7~ i el :\}
SRR A



Intermediate Algebra — Chapter 4
Lesson 4

5. 4x+dy=-8 — q**q){ -3
2x - 2y = 4-—~§ Yy - '4;-3
0= 0

@ T/\.Q Ma/ﬂu
YR

6. 15x - By = -20 —3 \Sx- Sy =0
-3x+y=4 S5, -1Sw+5y=
070

\od \\)‘Qmj
ALY,

Use only slopes and y-intercepts of the graphs of the equations to determine whether the system
of linear equations has one solution, no solutions, or infinitely many solutions. Explain.

7. ¥Y=7x+13
-21x + 3y = 39

Y=Ix13

9. 4x + 3y = 27

4x - 3y = -27
i A7 if gus I
Ly </ ER I S
e 4gd 3 2gr -2
> \{3 (! ’; H'Z) é}
o e Y ke
3 : Dz
Ll (“ Y“ CD‘
Seurw Y Aind |
e Slopa 5 | solud p

8.Y=-6x-2

12 %4 35 y by

12x + 2y = -6 1y Q/

#» lo%- o Y= 1Ay,

r--d NI

o F
NP O

~ R
LL ﬂg{" J = i
L‘"“H J S0
} ii()f!“
10. 2x -2y = 16
3x - 6y = 30 %y - -
M-y = |l 3x-byY 20
Ry J Y oY -y
Sy et <y Sx 50
P A s -

) Q ‘i’} *@ - L - !é"‘
L"‘. B X T \/‘

) ¢ L1 . j} Ay
5\ )iy
=% 2 0
4 | VN

B\ ({\ S\ﬁ €
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@ala@e Algebra — Chapter® 4
Lesson 6

Evaluate the determinant.

L NQ@- 4(3)3 10-13 2 [W@
1l

)3-(5)
I3+

=12~ ()
-13a+}

> W&\ 4.1}%& > -

12~ 139
O]

2 3 Q3

6[0 —4 6]0 -y
0 0 =510 O

Jusis+ ooy (VD)) - | DB (4]
Ea +0+0)- [Oto1d)

e+t o a0 (50
o [40+0+0) -{o+0+8)
113 | -
|40
e o [0 50
7. [2 0 J%% [ ﬁ &

bcabc_

NA(O) + (B0 + (YT sy (XA o
JoPh)- [(3 ;E-m-_] Tolova ey O -1 e

o [a3+ B & H Sb‘.& ol +0loc )
=S | s S|
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= lessn &

Solve the linear system on another piece of paper.
LX+v—27=5

X+ +z=2

2+3y—z=9

Olal’m

A+ y—z=9

_1_L61r_
3‘

—17
Sr-l-'fv—%- z

) '73[4."}1_!_53:_'

2y —yv+z=2

2% + 4y — 37 = 14

B, %)

4, 3

I —v+2z=4
6x — 2y + 4z = —8
2x—vyv+3z=10

No S

2.

xX+4y —6z=—1
i—y+2r=-—
—X+2y—4z;=35

(/’3““ - W

I +2vy—-3z=-2
Tx—2y+5:=—14
2Zx+4y+z2=26

22 29 b\
[;3 ‘T%)/s;'

dM+v—z=6
xX+y+z=12
12x + 4y =10

No S



intermediate Algebra — Chapter 4
Lesson 7

Name: Date
Tell whether the ordered pair is a solution of the system of linear inequalities.

1. (-4, 3)
Yes

2. (-3, -1) MO

3. (-2, 5) /\JO
4. (1,1 U
( ) \65
Tell whether the ordered pair is a solution of the system of linear inequalities.
5.(-5,2): y< 4 6. (1, -1); y> -2
y >x+3 y>x-5
AL-5 “1Y-9 ~IyI-5
ND \){35 -\ > -4
Ve s
O
o
7.0, 0); y<x+7 8.(4, -3); y<-x+1
y >2x+3 . y<5x—2
Dt O2aH3 S3=1l g g()-d
O & 023 3553 -3 L2D-3
Ve S NN TeS -3 13

No Tes

Yoo



Intermediate Algebra — Chapter 4
Lesson 7

Graph the system of linear inequalities.
9. y»> -3

12. 2x+y <5 oLrs by

y+2 = —2x Ye-ax-a\
G

X & w
‘}‘-L ‘\k.‘ v)
{
. K \\
\
NN\ X




Intermediate Algebra — Chapter 5

Lesson1
Name: Date
Use the distributive property to find the product.
1.(y+4)y + 6) 2. (a +8)a-3)
Y%+ 9yt by + 3 0720434 -3Y
2
Yoy +34 0™450-3Y

Use a table to find the product.

3. (y + 10)(y - 5) 4. (5g + 3)(g :a)
VQ__S'W\D\{ -S5O 539+L}'03+53~f9"/
Y *49y-S0 5q°113343Y

Use the FOIL method to find the product.
5. (w+ 9)w + 6) 6. (x-4)(x + 8)

W+ w +low +SY X%;:‘X*"gx"%@
REISVEED X439,



Intermediate Algebra — Chapter 5
Lesson 1

7. (8 - 4x)(2x + 6)
lox =Rx% 112 2y

Pod r{; I 2N ;_L}";:;
) E"?:x . E"?x ..i ; {}

Find the product.
9. (x + 1)(x* + 4x + 8)

%3y P48k 4 5 Patlz 4

A5 1 1ant B

11, (d + 6)(2d* - d + 7)

A o [N " Y ;:' '/ (ii ‘H% lf'r‘"u,},
A= 1d-615d" ol e

;})(\ ‘54*‘\\ (’j% y ¥ {*9’ 4! ﬁ P

8. (v - 3)(V* + 8v).
vh v 3% a4y
35y oy

10. (x - 2)(x* - bx + 1)
2 e b o~
X>-5x %k x-Ax 410x -3

Ty AR
LTI+ =2

12. 3¢? - e + 7)(6e + 1)

\?63‘* 369— SOCQ-SG e + 7/

1B e = AT+ e+



Intermediate Algebra — Chapter 5

Lesson 2
Name: Date
Find the product.
ocer (x+)K+3) 2. (5x + 28 (Gx+3 )(Sx+3)
xg-}?x-r%x-!-bq @\SXQHOXHOX-FL/
X2+ o x +bY DS 1P+ 0x+
s cizoxp (<1353 ) s oc-ar (X 3y Sy |
4y LK x4 R Sk’ wk"ﬁx[ 13xy ‘}f’
¥ 7R R A Sl -oxy %
5. éx -7 x +7) 6.er + 6)(x - 6)
Y=+ x M9 X =bx#bx -3

¥4 X°-3(



Intermediate Algebra — Chapter 5
Lesson 2

7. (7m + 8n)(7m - 8n) 8. (- 5g 2h)(-Bg + 2h)

Y9 m® +5mn -5 (M 958 ij\ﬂ 4 'O&‘f
Y9m -in’ " )(j"a‘, Jh3

Write a polynomial that represents the area of the square.

9. x 4 10. X 7 X

x|x®| Yy SRR

o % | 1 7[7x| 49 |1

, X° | Ixn |x°

94 P!l i L

XA AT FNCI

11. In _ 12. J{EC _{I_ AG(
T |

Lle+5c
I 1In-5 1 17 Cp

—l s l( [,-_ - ) = :
49n £25n-35n+495 o ¢? Hib 4 +liacd -»acf@

Hﬁ 1oN+3S | Lo ° V290 4 e



Intermediate Algebra — Chapter 5
Lesson 3, Day 1

Name Date

Find the sum.

1. (8x"-6x°+4x3-6x) + (15x°+4x°-3x%+2)
EX K- S 4% 3-ox +a)

2. (8x*-2x%+9x2+10x) + (6x*-5x3-9x?-11x-9)

0% Qe -9

3. (3x2+4x-1) + (-2x%-3x+2)
X5 x+ |
4. (7x"+2x5-3x2:9x) + (5x°+8x3-6x%+2x-5)

KB A Tx e x-S

5. (9x*-3x3+4x2+5x+7) + (11x*-4x%-11x-9)

Find the difference.

6. (3x°-2x?+4x-8) - (5x3+12x*-3 -4}
3x3-A P43 -Sx3-19x°4 3% +Y

—Ax3- 1Yy )% - Y

7. (7x*-9x3-4x%+5x+6) - (2x*+3x°-6x%+2x-5) " _
M- ?xg—qX°+§;§—e L-axt =3¢ 34y - dx+S

Sx*1ay3+ax® +3x +
8. (4x°-7x°-9x°+18) - (14x5;8x4+11x2+>8
UxS-Tx 3-Gx 2413 -14x5+8x4-1[x9-X

(DX % 3Y-Tx3-20x%x +/%
9. (8x°+6x3-2x%+10x) - (9x°-x3-13x%+4)
v S+(ox3 -IHOX-TxS+X3+/3x ~ Y/
X %% 3 %54 Ox -4
10. (11x*-9x%+3x+11) - (2x*+6x3+2x-9)
o= 2 Byl - 9xd Ly 3-9x

N X+




Intermediate Algebra — Chapter 5
Lesson 3, Day 2

Name

Find the product.
1. 753(5x%+3x+1)

35x%43[x+7x3

2. -4X5(11x3+2x2+9x+1)

4y

3. (5x2-4x+6)(-2x+3) ”
Ab% 3+ Rx - 19+ Sk

4. (-x-3)(2x*+5x+8)
- 23 Sx-Br - lox =15 -3
- 3% *-{1x*-23x-3Y
5. (x*-2x-4)(x*-3x-5)
Hogy5.9,% or Flox T HOX y,
-9 3x3+43aAx+90
6. (3x2+x-2)(-4x%-2x-1 a
-1t - (x>- 3><Q—‘,-th)©-@x3—x+%* +41+9
— 13 %= Bx 34xT+Ax

22\ (wa q
ZX (-)é\?’();x"-rzl—)l(;; 3)3) -, W3l + 3% -3x - 13x-3Y

¥ 2 423 | Ox-M
A/, Q-q _\3)
8. (x-5)(x+2)(x-6) =3 :(X-SJU X
¥ 32 Yn3-13x% -5%x + 0k Hob

3 9
X 2-Ix>13x 460

9. (3x-4)(5-2x)(dx+1) = (3x-4)(QOXAS - %X 9_3)
(3% D (-8x 4+ Ry 45) ~ ~aUx 2+ 5%x 7 +15x + 5

A3 Rx L5 Tx -0

‘ ) )
. (4-Bx)(1- 21 (4-5x) L 3x 4+ ~lox ¥ —Hx
o) Lo 5 2! ~a‘4x§’-‘!’x+8+3m3+,-3

‘

Y-gx)ibx “- x4 N

300%™ By 2

1Ox

Date




Intermediate Algebra — Chapter 5
Lesson 4, Day 1

Name - Date

Divide using polynomial long division.

1. B+ x-17) + (x - 4) 2. (3x? - 14x - B) + (x - B)
xS
x-qu—\m 5><Al
-X§dx L X- b) L\dx-5
Y- - 2415x L
- +Q0 g
= e
XS+ xg O
\ 3x+l]
3.3+ X2+ x+2)+ (x2-1) 4. (B5x* - 2x3 - 7x? - 39) + (x2+ 2x - 4)
X+l SAMLQ;&;ES:’
Sl y\w\ FT ek q)’-x - 2 7x Ok -39
tx L "ST02 7308
x 2t ax o Ay >+13x +Dv
\\*’DXH !—&Hc?‘lx “& 4
*’3 ‘i;]x fo;i:%
Q;x+3 — 2, e THX
| XH # I |23 107
th Jan- Y+ "am
5. (7x3 + x® +i<7)-(>l<+1) 6. (4x* + Bx - 4)—(x2-3x 2)
Sl L}X-r l& “H
OxH) XX X7+ X+D
X x+\:\+u RS Tx f3><-;)\ Uy'+ O3+ Ox"+ S x- ‘/
a3 L
x° x +O — Uyt+ X
—X?&0xa) 192+ 8k 1O
=Tox-| —\5)&3430)( 'I'QL})C IJ
Txrl + et T o i 423
e | e P58 Hw ﬂ‘%ﬁﬁa’

—



Intermediate Algebra — Chapter 5
Lesson 4, Day 2

Name

Divide using synthetic division.

1. (@« 8x + 1) =+ (x - 4)
v B \
L\M

49
x+\8+$§11

3. (2x2 - x + 7) + (x + B)
o -\ /M
'S\L -10 55

|2

e g

5. (x? + 9) + (x - 3)
1V 0

3L 3
Ll3l<o’

)Xf3+ ,-(:3'

——

7. (x* - Bx® -8x% + 13x - 12) + (x - 6)

)l -5 =% |3 -/3

(as//(p(aié)b
1191;‘4

LX r % QX+ T X |

Date

2. (4x2—13x 5) x - 2)

aibgl

~ H -§ -IS
| Ux-S+ 35\

4. (x3-4x + 6) = (x + 3)

\ -4 b
-31L -3 9 —IS
| -% &5 ~°

[‘X L 3x+S+ ;@B

6. (3x3-5x?-2) =+ (x-1)
12 -5 O -9&
{3 -9 -9
e

3 @ -d =
Eﬂ-’ax’&’r ’x—_l\

8. (x* + 4x3 +16x - 35) = (x + 5)




intermediate Algebra — Chapter 5
Lesson 5

Name:

Solve the equation.
1. x(x+7)=0

= + 170
EESNEAS
3. 124(+ - B) = %'O
-3 4255
[E0) B
5.(s-9)(s-1)=

0
L=-0 S-\=
61’3? ¥ 4l

Date

2. r(r-10)=0

(=0 (-t/\\%:-gt)o
(=\D

-&U:_Q V‘t’l:‘ |
N/=c5 > -
|V=0]

6.(y+2)y-6)=0

P80 YIS

=2 e

i



Intermediate Algebra — Chapter 5

Lesson 5
11. 3-2x)7-x) =0 12. (2 - 4d)2 + 4d) = 0
3-Qx=0 I-X= 2-ud =D &+'~’ro‘=_%
-3 -3 ] -3 -3 -a 23
=3 =x-1 4= dd= 3
2 "2 -1 7 =valiev __‘:L...-L',
x=3| 131 &3] |d=3)
=) = d:-3
13. x(x + 2)(x-1)=0 14 5p(2p-3)p+7)=0

= = -
=0 X¥=0 %

PSR 4 A

i\
=0

15. (r- 4¥(r + 8) = O 16. W(w - 6)2 = 0
Yy=p (+3=0 \1)=0/ WHL=0
Ch‘ + - - \_LL)_O/I 1b to
) [ E%
17. (15 - Bc)(5¢c + 5)(-c + 6) = 0 18. (2 - n)(6 + n)(n-2) = O =0
550 SR ¢S, gwen rinzd NI %
Calls %I ek na Bgedd) b
% ')§S wg-—-“""‘?\ \ ' - - 3

Vm e | \C: -1 IC=b/ \ﬁ 03 -g
Factor the Polynomial. \"’_j

[ | PES




Intermediate Algebra — Chapter 5
Lesson 5

cel0+d)

Solve the equation.
25. 4p°-p=0

(4p-1=0
\gﬁf poniY
-\

\ P |

27. 25¢c + 10c? = 0

563800

—

24. 12q* + 8a

‘_ Ha (3(13-\- )

26. 6m?2 + 12m = O
lom{mn+3)=0
bg\_::_g mtg:-g

z gy

28. 18x - 2x2 = 0

> 2
-1
X=0] =~ 5
x=9
.z
Y= 33c=0
~dr(r+d) =0
( 47O

=0
_-L‘ -~



Intermediate Algebra — Chapter 5
Lesson 6

Name:

Factor the polynomial.
1.x*+8x+7

() (X)

3.n°+9n + 20

(n+5S YNn+4)

5. h? +11h + 18

() )

7.v*-5v + 4

Cv- Lﬂ(,v-«\\

9.d*-5d + 6

(4-3)a-9)

Date

2. x2+ 10x + 21

(xaD(+3)

4. x> + 11x + 30

(x+)X4S)

6. y* + 13y + 40

(y+8)y+5)

8. x* - 13x + 22

(x-11){¥-2)

10. k? - 10k + 24

CKo)(K)



Intermediate Algebra — Chapter 5

Lesson 6
11. w? - 17w + 72

(5-T1-3)

13. x* + 3x - 4

(x+9)(X -1

15. n® + 4n - 12

(Y N-3)

17. y* + 2y - 48

CEENEA

19. x* - x - 20

FEEIN

21, -6x-16 + X2
X% bx-\L
(x-x+3)

12. 2 - 13j + 42

q—@(-@-ﬂ

14, x* - 7x - 18

(x-)0+3)

16. x2 + 3x - 40

(X+3)(X-S")

18. h? + 6h - 27

(hta)(h-3)

20. m2-6m -7

(=7 (w1 )

22.\;7 ::7)';—‘3030
(y-100y+3)



Intermediate Algebra — Chapter 5
Lesson 6

Solve the equation.
23. m*+3m+2=0

() D=0

M= Mt|=0
-9 -2 -t =\

"= [

25. X2 +bx-14 =0
(X+NKx-P=0

- ~-A=0
X‘_q 9—-, X—ra +0

|x=-77 X=2 |

27. 1 + 15t = -36
436

S L3O
(t+1)k+3) =0
tria=o 37O

..\? ’—\-Ql& ,EZ '33

29. a® + Ba - 20 = 30
-30 ~5%0

A% +Sa-50=O
(a+10)a-S)=O

2O QA-S=O
qf“ob ~o 15 *S

g=-o) |a5]

31. m?2 + 10m,# 15m - 34
Sm BL(Zan 43Y

Mm2-Sm+ =0
Not “dcoable

N-Y(N-2) =
= -95=0C
et IS
N=t

28. n®-5n-=24
-ay

P-5n-A4=0
N-D3 =0
Ln,% =0 O*SCO

43 3 — 35 :5

-
-

30. yZ—Zy—%=77

—9)(45:0
(y- 6‘3W+3\’“D

\,_,é':,o ¥+ 3: D

=] (23

32. b2+ 5 =8b - 10
AT L IR

2 3+ \S -0
(E-sxtb-sk
b-s=o. 0

=0
+73
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Lesson 7

Name:

Factor the polynomlal.
1. 3x% + 3x -

20 %~ a\
2 ()

q (X +19)
4 (k) (k+)

5. 7x% - 63x + 140
2(x*Ax+20)
7 (x-S)(x'U)

7.3k + 11h + 6

(3n+Nn )

Date

2. 8x%* + 8x - 48

(x% x-b )
3wt 3)(x-2)

4. 6y* - 24y + 18

(oly? LI)H?))
(o(\/ (y-D

6. 9x% - 36x - 45

q(x>4%45)
Q (x-uHX )

8. 8m? + 30m + 7

@m{\-t" @m-ﬂ}



Intermediate Algebra — Chapter 5

Lesson 7

9. 6x* - 5x + 1

(B3x-1ax-1)

11. 32 + B5pn - 2

Bn- N+

3 é‘xz’—fﬁ’ x-(0)
A (Ut 2¥x = D

15, -3x? + 11x -

- (3)\ -1x4 (p)
- @x-&ﬂQ‘

10. 10x? - 31x + 15

(5)&'3)@%—@

12. 4x* + 4x - 3

@x - l\{é)x’f@

14, 18x%* - 15x - 18

3 uoxg— 5x ‘(a)
3 C3x+5115"""3\

16, -7x% - 2bx - 12
- (7;{3—&&5)(-\- |a)
- (-7X -\-‘-[)LX'\' 3 )



Intermediate Algebra — Chapter 5
Lesson 7
17. -4x% + 19x + 5

*(L}x‘g'qu -5)
- @}x + Dx-— 53

19. -15y* -y + 28
= ClSy g+\/ -28)
- (5y+_])(3)/” 1)

Solve the equation.
21.5x*-5x-30=0

S5(x%-x-L)=0O
5 (x-3Yx+3)=0

- 4= +a=O
5&{0 X-\-% % X‘Q _—:Q

"}XI"‘3 \ X‘ﬁj

23. -12n? - 11n = -15
HS N5

“120°- NS =0

- (AN -S)= O
- (3453~ )= O .
P 4= 3007

18. -8x* - 13x + 6
—(8x% 3% ~b)
~ (Bt Aex-a)

20. -22x% + 29x - 9

- (8ax> Ax+)
‘Qly“ Cﬂ@)&‘ ')

22. 2k2—5k—‘%18=0 O
K-SR -13%
-k + ‘o}c)\ =0
L_g=0O K=
- —r(;\u 4 28

aR=9 | B9
2 o

- ~ ﬂ )
,H“ |
24. 14x* - 2 = -3x
By T
4+ 3x-a=Q
(x-D@x+t3)°0
Tx-=0  Akrd=Q
o . _.59‘
4l A%
X=5 | -l.f



